Model Question Paper Set- ||
HATSAT UeT-usf Ae— |l
2021

Time Allowed - 3Hours. Chemistryh Full Marks- 70
Class- XI1"

General Instruction
ATHATT forder :

Group — A has 20 Multiple Choice Type Question each of 1 mark.

TUs— 37 H 20 IGABIT U B, UAb 1 3T BT B |

Group — B has 07 Fill in tha blanks type Question each of 1 mark.

Fvs— I H 07 RNad e o3 UbR &b U &, Udb 1 3ib &bl &
Group — C has 07 Very Short answer type Question, each of 2 mark.

JUus— A H 07 3T g 3T Ued &, UAPB HT AR 2 3ikb &
Group —D has05 Short answer type Question, each of 3 mark.

FUS— & H 05 oY IANT U &, UAb bl AT 3 3k & |

Group — E has 02 Long answer type Question, each of 7 mark.

TMus— 5 H 02 T INT UBR D U &, UAdb bl HAT 7 3ickh

Group - A
(s - 31)

I. Choose and write correct answer of the following: 1x20=20
FreafeRaa ueat & I8 IT= gar w2 fo=i:
1. The number of atoms in a face-centered cubic unit cell of a monatomic
substance is equal to:
@1 (b) 2
()3 (d)4
Holds dBiogd HellT Uk Hitedml (FCC) H IuRera uzaATurai
Fr TFZ=T fhdelt adr B ?
@ 1 (b)2

(€3 (d) 4
2. Number of moles of solute present in 1 liter of solution is called:
(a) Molarity (b) Moldity
(c) Normality (d) Mole Fraction
Tk e Toer A 3uBRea o & HAlal &6t I==a1 &by
FHEd B

(8 FHYerzar (byFrereTar



() st (d) FAreT—37er
Example of strong electrolyteis:

(a) Acetic Acid (b) Formic Acid

(c) Ammonium Hydroxide (d) Hydrochloric Acid
Udel degasiugeyd e:

() TRdles 319t (b) BT 31FcT

(c) 3TAIfeTIdH ETSgIRATSS (d) TsgIRas 31FcT
The process in which a substance gain electron is called:

(a) Oxidation (b) Reduction

(c) Hydrogenation (d) Addition
fpalt ucrel ERT SAAdET WEUT B B Uk weardr &:

(a) 3TTeRTTaEIoT (b) 3raeE2oT

OREESEEIEA (d) Tipotet

How much charge is required for the reduction of 1 mole of Cu*" ion to
Cu?

(a) 193000C (b) 96500C

(c) 48250C (d) 1900C
1 el CU™ amael & Cu & 3aehd el & U@ 39l
3TALT BY AT & ?

() 193000C (b) 96500C

(c) 48250C (d) 1900C
Order of the reaction having rate law expression, R= K [A]* [B]* will be:
@1 (b) 2

(03 (d) 0

Jor e Hafteszor, R=K [A]' [B]'arar aifaifeear @ wife a@=m
aroft ?

@1 (b) 2
(03 (d) 0
Unit of the rate constant of a Zero order reactionis:
(@ s* (b) mol L*s™
(c) Pmol?s™ (d) Lmol*s™
[T dhife &Y 3ifHhT & Jor-ReRics BT AH®G &:
(@ s* (b) mol L*s™*
(c) P'mol?s™ (d) Lmol*s™

The shape of XeF,is:
(a) Tetrahedral (b) Square planar
(c) Octahedral (d) None of these

XeF, Al 3']132—_% %:
(a) agSHcTHT (b) aof AT



0.

10.

11.

12.

(C) 3rCweTdb =T (d) serd A B8 T8t

Which of the following is water soluble?

(3 Vit. D (b) Vit. E
(©) Vit. A (d) Vit. C

g A ol faar 2:
(a) Rrerf3r=r D (b) Rrerf¥rer E
(0) Rrarfrer A (d) Rrerf¥rer C
Cl

| (1) NaOH, 623 K, 300 atm

@ (ay H*

‘A’ is: CHCI CHO

@l) o @ © @ @

Cl
| (1) NaOH, 623 K, 300 atm

Iy H*

CHCI

‘AT E: | C|HO
@ O SEECIS @ )

Which of the following has lowest dipole moment?
(a) CH; Cl (b) CH, Cl,
(c) CH Cl; (d) CCly

g A paswr Taga ameol <gaas 2 ?
(a) CH; Cl (b) CH, C|2
(c) CHCl; (dyCCly

Equimolar mixture of HCI and ZnCl, isKnown as :
(@) Lucas reagent (b) Hinsberg reagent
(c) Tollen's reagent (d) Baeyer’ s reagent

HCl wd ZnCl, & JA#FAA fHOT B wed &:
(a) T IfHBHSB (b) ezt aifarmsts
(c) Srcted  3TMTHPBHSB (d) =z 31f3repae



13.  Which of thefollowing is least soluble in water:

CHa

(8) CH3 CH, CH, CH, OH (b) CHs — C\H —CH, - OH
CHz OH

(c) CHz— c:: - OH (d) CHs—CH,— CH - CHj

CHs;

TAH A Bl olcd A PgoradA garerefiar & 2

CHz
|
(a) CH3 CH, CH, CH, OH (b) CH;—CH — CH, — OH
CHz OH
I I
(©) CH3—C|:- OH (d) CH;—CH, - CH — CHj3
CHz
14.  Which of the following is primary acohol ? OH
(8 CH3z—CH,—CH, - OH (b) @
OH OH
I I
© © @ ©
| |
CHs NO,
Sofd A hial UrAfdes Uoehiatel & ?
OH
|
(8 CHz—CH,—CH, - OH (b) @

OH
© @ @ (O
CH-



15.

16.

Products of the reaction :
CH;—-CH,—-CH, -0 —-CHj + HI

(8) CH3 — CH, — CH, - OH + CH; |
CH4OH

(C) CH3 — CH, — CH, — | + CH3l
CHOH

—

(b) CH; — CH, — CH, — |

(d) CHs — CH, — CH, — OH

TeTaaTToATsIa 3THThaT & 3cUle RIT & ?

CH3;-CH; -CH; -0 —-CHgz + HlI

(8) CH3 — CH, — CH, - OH + CH; |
CH4OH

(C) CH;—-CH,—-CH, -1 + CHal
CH3OH

0
@/C . H,
Pd—BaSO4

‘A’is

€)] @/ @ - CHj
/CH3
0 (O

¢
@/C S H,
Pd—BaSB4

‘A"

(@ @/ g - CH;
/CH3
0 (O

—

(b)) CH; — CH, — CH, — |

(d) CHs — CH, — CH, — OH

A

o @/ CHO
9 @/ cl

A

CHO

® ()
" @/ cl

+

+



17.  Which of the following has highest Boiling point?

(a) CH;—-CH;—-CH, - CHO (b) CH;-CH, -CH,—-CH, - OH
(C) C2H5—O—C2H5 (d) CH3 - CH2 — CH2 — CH2 —
CHs;

g A hAbpT dmeretic 3iferpaa 2 ?

(a) CHg—CHg—CHZ' CHO (b) CHg—CHz—CHZ—CHZ - OH
(©) CoHs — O — CoHs (d) CHs — CHy, — CHp — CH, —
CH;

18. Q§O+HO—NH2 — > A

‘A’is:
@ — OH (b) ~— NH (c) — N-OH (d) -
o, (y ™90 a

Q¢O+HO—NH2 — > A

AR

(a — OH (b) — NH (c) —~N-OH (d) _
?Clo, (y ™90 Y

19. NO, Sn+HCI

 —

NO, Sn+HCI

> A



20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

Which of the following is tertiary amine?

(@) Ce Hs NH; (b) C2 Hs NH;
(©) (C2 Hs)2 NH (d) (CsHs)s N
Seldl A hlel JdlIb 3MHATSS & ?

(@) C Hs NH; (b) C2 Hs NH;
(¢) (C2Hs)2 NH (d) (CsHs)z N

Group - B
(Fos - @) IX7=7
(Fill in the blank Type Questions)
Rera zermat @Y 913)
BIATSSI PV B SE-HAG (Zig-Zag) orfer &br ...
The phenomenon of Zig-Zag motion of colloidal particles is known as

Ziferelt A JAdeg 3rgfegl & ......... HEd B |

The impurities associated with the minerals are collectively known as ... ...
2aliolel ol uRadeiefier 3iTaefiepor arazen ueldfa <&l wwar
The hologen which doesnot show variable oxidation stateis.............
BIHATHA BT g SAdSield e ........... 21

The outer electronic configuration of chromiumis...............

RNAS ........... T B0 8T 21

Thesugar inRNAiS................

Natural Rubber isapolymer of ..................

gd Pl PH PBIA dial IATATeid uerel o .............. wed 2|
Chemical used for reducing painarecalled ..................

Group - C
(Fos 1) 2x7=14

(Very Short Answer Type Questions)
(it =g 3Tdw uee)

The resistivity of a 0.2M solution of electrotyte is 5X10° Qcm, calculate
its molar conductivity.
U degasiuaey @ fdae &t Aigar 0.2 M gd faferse uferer
5X10°Qcm 21 SAPBP AT ATcAbdl Siid b |
What is roasting of ore? Give one example.
aTolel bf UReTita 3 Ud Uh 3ISTE0T & |
On what ground can you say that Scandium (Z=21) is a transition element
but Zinc (Z=30) is not?




31.

32.

33.

35.

36.

37.

38.

39.

3y fp 3MMeNT Uz s Adbd & b Idfesad ‘Sc (Z=21) Uh
TFhHAUT dcd & oldih fSis ‘Zn' (Z=30) st 2
Calculate the Number of unpaired electronsin Mn** and Fe*

Mn* 3R Fe* 3irel & IRPAT Sciagiell & 0Tl &3 |
Define the following:
(@) Peptide Linkage (b) Denaturation of Proteins
ey &3 :

(d Uerss aer  (b) Uidler BT faraseitasor
Define Homopolymer and Copolymer. Give one example of each.
AAAgeld Ud Aedgold &I URANNG B2 TI TH-UH
3TTE0T < |
What are antibiotics. Give one example.

ufcTeiamy] &=IT & ? TP 3ISERIT < |

Group-D
(Fos - ) 3x5=15
(Short Answer Type Questions)
oY 3T UL

An etement having atomic mass 60.2 has a face centred cubic unit cells.
The edgelemgth of the unit cell is 100 pm. Find out density of the element.
(Na= 6.02x10%)
U dad bl UIHTY STHATST 60.2 & U SAH fCC Thd
PIfSshIT &1 STP!T PIVSHI3T P hIT Bl oidls 100pM & |
S dad bl "elad =i be | (Na= 6.02x10%)
What are emulsions? What ar their different types? Give one example of
each type.
UA =T €7 sAb fdfdtest Uk =T € ? USSP Bl Uk
3TTE0T < |
Nitrogen exists as diatomic molecule (N,) and phosphorus as P, why?
arsgiotel fguran®as 3 (N, 2 oafs wReRA agss
TRATGE (P, =t 2
Write the various steps involved in Manufacture of H, SO, by Contact
process.
ARIRH 3 H, SO, & foradAtor & Jvuel ussd & fafdres
gl @r forst |
Write IUPAC Names of the following compounds:

(@ [Co (NH3)¢] Cl2

(b) [Ni (CO)4]

(©) [2n (OH)*
fergettaiRaa & IUPACETH T —

(@ [Co (NH3)g] Cl




40.

(41)

(b) [Ni (CO)4
(0) [Zn (OH)]*

Group - E
Fos - () 7x2=14
(Long Answer Type Questions)

@ ITIAT o)
(a) Calculate the molarity of a solution containing 40g of NaOH disolved in
2 Litre of the Solution.
40g NaOH @I gelieh? derar ol 2 oite faarer @r #Arerzdar
ST b3 |
(b) A First order reaction takes 40 minutes for 30% completion. Calculate
its half life period. (log7=0.845)
UarH whife & we fdfeamr 40 fHee F 30% gof &t 2
3ifdrferem @5t 31 3Ty 3@afer sita &< 1 (log7=0.845)

OR / 3ferar

(@) 31g of ethylene glycol (C, Hg O,) is mixed with 500g of water.
Calculate Freezing point of the solution. [K;= 1.86K Kgmol™]
31g semaferer sarsabial (C, Hg O,) Y 5009 Sial A fHSTT=IT or=m
21 =9 Re=er &1 fBais @=im gem? [Ki=1.86K Kgmol™]
(b) A First order reaction has a rate constant (1.15x10%)s* How long will
5g of this reactant take to reduce to 3g?
UerH hife W T SHRear w1 dor Remies (1.15x10°%)st 2
paal JAHAT H TH 3MfdfeaT @1 5g 3i1fdpRes ¥e w2 3g &l
SITEaTT ?

(I) Write short notes on:

(a) Aldol Condensation

(d) Ucsler Adgeiel

(b) Hoffmam bromamide degradation reaction.
(b) EThHATa sATATSS Taaes srfdfcsar

(1) How you will bring about following conversions:
fereaifeiRaa uRada 3mu $A a1 ?

(a) 2-Bromopropane to propene

(A) 2-SragIder A Widier

(b) Phenol to Benzene

(b) retar ¥ dfSTer



(c) 1-Chloropropane to 1-l1odopropane

(€) 1-aT=_Iuder A 1 —-3T=Nsude
OR / 3ferar
Write the structure of the major organic product in each of the following

reactions:
fereataRaa aifafcearat & g 3 & Jzger o=t |
(@ CH;—CH,—CH =CH, + HBr  Peroxide

—_—

(b) CH3 - CHO + 2H LiAIH, ...

e

(©) ©/ CH,— CHj KM,O,
KOH,A
(d)CH;—CH=CH-CH; (I) Os
-
(1) H,O/Zn
(e) CH; —CH, — OH Conc. H,S0O,
443 K g

(f) CH3 —-Br+ C2H5 O Na'

() @_ NH, +HCl

v

v



